1-loop massive vacuum diagram

We are going to live in $d = 4 - 2\varepsilon$ dimensional space-time

▲□▶ ▲圖▶ ▲国▶ ▲国▶ - 国 - のへ⊙



1-loop massive vacuum diagram

We are going to live in $d = 4 - 2\varepsilon$ dimensional space-time



$$\int \frac{d^d k}{(k^2 + 1)^n} = \pi^{d/2} V(n)$$

うつう 川田 エル・エー・ エー・ショー

$$\frac{1}{a^n} = \frac{1}{\Gamma(n)} \int_0^\infty e^{-a\alpha} \alpha^{n-1} d\alpha$$

$$\frac{1}{a^n} = \frac{1}{\Gamma(n)} \int_0^\infty e^{-a\alpha} \alpha^{n-1} d\alpha$$
$$V(n) = \frac{\pi^{-d/2}}{\Gamma(n)} \int e^{-\alpha(k^2+1)} \alpha^{n-1} d\alpha \, d^d k$$

$$\frac{1}{a^n} = \frac{1}{\Gamma(n)} \int_0^\infty e^{-a\alpha} \alpha^{n-1} d\alpha$$
$$V(n) = \frac{\pi^{-d/2}}{\Gamma(n)} \int e^{-\alpha(k^2+1)} \alpha^{n-1} d\alpha \, d^d k$$
$$\int e^{-\alpha k^2} d^d k = \left[\int_{-\infty}^{+\infty} e^{-\alpha k_x^2} dk_x \right]^d = \left(\frac{\pi}{\alpha}\right)^{d/2}$$

うしつ 明二 エヨヤ エヨヤ エロヤ

$$\frac{1}{a^n} = \frac{1}{\Gamma(n)} \int_0^\infty e^{-a\alpha} \alpha^{n-1} d\alpha$$
$$V(n) = \frac{\pi^{-d/2}}{\Gamma(n)} \int e^{-\alpha(k^2+1)} \alpha^{n-1} d\alpha \, d^d k$$
$$\int e^{-\alpha k^2} d^d k = \left[\int_{-\infty}^{+\infty} e^{-\alpha k_x^2} dk_x \right]^d = \left(\frac{\pi}{\alpha}\right)^{d/2}$$
$$V(n) = \frac{1}{\Gamma(n)} \int_0^\infty e^{-\alpha} \alpha^{n-d/2-1} d\alpha$$

Converges only if d < 2n; otherwise, analytical continuation

◆□▶ ◆□▶ ◆□▶ ◆□▶ □ ● のへぐ

$$\frac{1}{a^n} = \frac{1}{\Gamma(n)} \int_0^\infty e^{-a\alpha} \alpha^{n-1} d\alpha$$
$$V(n) = \frac{\pi^{-d/2}}{\Gamma(n)} \int e^{-\alpha(k^2+1)} \alpha^{n-1} d\alpha \, d^d k$$
$$\int e^{-\alpha k^2} d^d k = \left[\int_{-\infty}^{+\infty} e^{-\alpha k_x^2} dk_x \right]^d = \left(\frac{\pi}{\alpha}\right)^{d/2}$$
$$V(n) = \frac{1}{\Gamma(n)} \int_0^\infty e^{-\alpha} \alpha^{n-d/2-1} d\alpha$$

Converges only if d < 2n; otherwise, analytical continuation

$$V(n) = \frac{\Gamma(-d/2 + n)}{\Gamma(n)}$$

◆□▶ ◆□▶ ◆三▶ ◆三▶ 三三 のへぐ

Integer n

Proportional to

$$V_1 = \frac{4}{(d-2)(d-4)}\Gamma(1+\varepsilon)$$

For example,

$$V(2) = -\frac{d-2}{2}V_1 = \Gamma(\varepsilon).$$

◆□▶ ◆□▶ ◆□▶ ◆□▶ □ □ のへぐ

V(n) is UV divergent at $d \to 4$ if $n \leq 2 \text{: } 1/\varepsilon$ pole

Integer n

Proportional to

$$V_1 = \frac{4}{(d-2)(d-4)}\Gamma(1+\varepsilon)$$

For example,

$$V(2) = -\frac{d-2}{2}V_1 = \Gamma(\varepsilon).$$

V(n) is UV divergent at $d \to 4$ if $n \leq 2 \text{: } 1/\varepsilon$ pole

$$\Gamma(1+\varepsilon) = \exp\left[-\gamma\varepsilon + \sum_{n=2}^{\infty} \frac{(-1)^n \zeta_n}{n} \varepsilon^n\right]$$
$$\zeta_n = \sum_{k=1}^{\infty} \frac{1}{k^n}$$
$$\zeta_2 = \frac{\pi^2}{6} \qquad \zeta_3 \approx 1.202 \qquad \zeta_4 = \frac{\pi^4}{90} \qquad \cdots$$

◆□▶ ◆□▶ ◆□▶ ◆□▶ □ □ のへぐ

Integrals in d dimensions

$$\int cf(k) d^{d}k = c \int f(k) d^{d}k$$
$$\int [f(k) + g(k)] d^{d}k = \int f(k) d^{d}k + \int g(k) d^{d}k$$
$$\int f(k+q) d^{d}k = \int f(k) d^{d}k$$
$$\int f(\Lambda k) d^{d}k = \int f(k) d^{d}k$$
$$\int f(ck) d^{d}k = c^{-d} \int f(k) d^{d}k$$

(ロト (個)) (目) (目) (目) (1) (1)

Integrals in d dimensions

$$\int cf(k) d^{d}k = c \int f(k) d^{d}k$$
$$\int [f(k) + g(k)] d^{d}k = \int f(k) d^{d}k + \int g(k) d^{d}k$$
$$\int f(k+q) d^{d}k = \int f(k) d^{d}k$$
$$\int f(\Lambda k) d^{d}k = \int f(k) d^{d}k$$
$$\int f(ck) d^{d}k = c^{-d} \int f(k) d^{d}k$$

In particular

$$\int \frac{\partial f(k)}{\partial k^{\mu}} \, d^d k = 0$$

◆□▶ ◆□▶ ◆□▶ ◆□▶ □ ● のへぐ

Massless vacuum diagrams



by dimensionality (argument fails at n = d/2)

▲□▶ ▲圖▶ ▲国▶ ▲国▶ - 国 - のへで

Massless vacuum diagrams

$$\int \frac{d^d k}{(-k^2 - i0)^n} = 0$$

by dimensionality (argument fails at n = d/2)

$$\int \frac{d^d k}{(-k^2 - i0)^n} = \int \frac{d^d c k}{\left[-(ck)^2 - i0\right]^n} = c^{d-2n} \int \frac{d^d k}{(-k^2 - i0)^n} \,,$$

Massless vacuum diagrams

$$\int \frac{d^d k}{(-k^2 - i0)^n} = 0$$

by dimensionality (argument fails at n = d/2)

$$\int \frac{d^d k}{(-k^2 - i0)^n} = \int \frac{d^d c k}{\left[-(ck)^2 - i0\right]^n} = c^{d-2n} \int \frac{d^d k}{(-k^2 - i0)^n} \,,$$

▲ロト ▲園ト ▲ヨト ▲ヨト 三臣 - のへで



$$\int e^{-k^2} d^d \mathbf{k} = \left[\int_{-\infty}^{+\infty} e^{-k_x^2} dk_x \right]^d = \pi^{d/2}$$

$$\int e^{-k^2} d^d \mathbf{k} = \left[\int_{-\infty}^{+\infty} e^{-k_x^2} dk_x \right]^d = \pi^{d/2}$$
$$= \Omega_d \int_0^\infty e^{-k^2} k^{d-1} d\mathbf{k} = \frac{\Omega_d}{2} \int_0^\infty e^{-k^2} (k^2)^{d/2 - 1} dk^2 = \frac{\Omega_d \Gamma(d/2)}{2}$$

$$\int e^{-k^2} d^d \mathbf{k} = \left[\int_{-\infty}^{+\infty} e^{-k_x^2} dk_x \right]^d = \pi^{d/2}$$
$$= \Omega_d \int_0^\infty e^{-k^2} k^{d-1} d\mathbf{k} = \frac{\Omega_d}{2} \int_0^\infty e^{-k^2} (k^2)^{d/2 - 1} dk^2 = \frac{\Omega_d \Gamma(d/2)}{2}$$

$$\Omega_d = \frac{2\pi^{d/2}}{\Gamma(d/2)}$$

$$\int e^{-k^2} d^d \mathbf{k} = \left[\int_{-\infty}^{+\infty} e^{-k_x^2} dk_x \right]^d = \pi^{d/2}$$
$$= \Omega_d \int_0^\infty e^{-k^2} k^{d-1} d\mathbf{k} = \frac{\Omega_d}{2} \int_0^\infty e^{-k^2} (k^2)^{d/2 - 1} dk^2 = \frac{\Omega_d \Gamma(d/2)}{2}$$

$$\Omega_d = \frac{2\pi^{d/2}}{\Gamma(d/2)}$$

 $\Omega_1 = 2$ $\Omega_2 = 2\pi$ $\Omega_3 = 4\pi$ $\Omega_4 = 2\pi^2$...

◆□▶ ◆□▶ ◆三▶ ◆三▶ ○○○

UV divergence

$$\int \frac{d^d k}{(2\pi)^d} \frac{1}{(-k^2 - i0)^2}$$

◆□▶ ◆□▶ ◆□▶ ◆□▶ □ ● のへぐ

both UV and an IR divergences — cancel each other

UV divergence

$$\int \frac{d^d k}{(2\pi)^d} \frac{1}{(-k^2 - i0)^2}$$

both UV and an IR divergences — cancel each other UV divergence $(1/\varepsilon)~k\to\infty$ — IR regularization

$$\int \left. \frac{d^d k}{(2\pi)^d} \frac{1}{(-k^2)^2} \right|_{UV} = \frac{i}{8\pi^2} \int_{\lambda}^{\infty} k^{-1-2\varepsilon} dk = \frac{i\lambda^{-2\varepsilon}}{(4\pi)^2\varepsilon} = \frac{i}{(4\pi)^2} \frac{1}{\varepsilon}$$

▲□▶ ▲圖▶ ▲国▶ ▲国▶ - 国 - のへで

UV divergence

$$\int \frac{d^d k}{(2\pi)^d} \frac{1}{(-k^2 - i0)^2}$$

both UV and an IR divergences — cancel each other UV divergence $(1/\varepsilon)$ $k \to \infty$ — IR regularization

$$\int \left. \frac{d^d k}{(2\pi)^d} \frac{1}{(-k^2)^2} \right|_{UV} = \frac{i}{8\pi^2} \int_{\lambda}^{\infty} \mathbf{k}^{-1-2\varepsilon} d\mathbf{k} = \frac{i\lambda^{-2\varepsilon}}{(4\pi)^2\varepsilon} = \frac{i}{(4\pi)^2} \frac{1}{\varepsilon}$$

Any IR regularization is OK

$$\int \frac{d^d k}{(2\pi)^d} \frac{1}{(-k^2)^2} \bigg|_{UV} = \int \frac{d^d k}{(2\pi)^d} \frac{1}{(m^2 - k^2)^2} \\ = \frac{im^{-2\varepsilon}}{(4\pi)^2} \Gamma(\varepsilon) = \frac{i}{(4\pi)^2} \frac{1}{\varepsilon}$$

◆□▶ ◆□▶ ◆□▶ ◆□▶ □ □ のへぐ

$$\frac{1}{a_1^{n_1}a_2^{n_2}} = \frac{1}{\Gamma(n_1)\Gamma(n_2)} \int e^{-a_1\alpha_1 - a_2\alpha_2} \alpha_1^{n_1 - 1} \alpha_2^{n_2 - 1} d\alpha_1 \, d\alpha_2$$

$$\frac{1}{a_1^{n_1}a_2^{n_2}} = \frac{1}{\Gamma(n_1)\Gamma(n_2)} \int e^{-a_1\alpha_1 - a_2\alpha_2} \alpha_1^{n_1 - 1} \alpha_2^{n_2 - 1} d\alpha_1 \, d\alpha_2$$

Substitution $\alpha_1 = \eta x, \ \alpha_2 = \eta (1 - x)$

$$\frac{1}{a_1^{n_1}a_2^{n_2}} = \frac{\Gamma(n_1+n_2)}{\Gamma(n_1)\Gamma(n_2)} \int_0^1 \frac{x^{n_1-1}(1-x)^{n_2-1}dx}{[a_1x+a_2(1-x)]^{n_1+n_2}}$$

・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・

$$\frac{1}{a_1^{n_1}a_2^{n_2}} = \frac{1}{\Gamma(n_1)\Gamma(n_2)} \int e^{-a_1\alpha_1 - a_2\alpha_2} \alpha_1^{n_1 - 1} \alpha_2^{n_2 - 1} d\alpha_1 \, d\alpha_2$$

Substitution $\alpha_1 = \eta x, \ \alpha_2 = \eta (1-x)$

$$\frac{1}{a_1^{n_1}a_2^{n_2}} = \frac{\Gamma(n_1+n_2)}{\Gamma(n_1)\Gamma(n_2)} \int_0^1 \frac{x^{n_1-1}(1-x)^{n_2-1}dx}{[a_1x+a_2(1-x)]^{n_1+n_2}}$$

Substitution $\alpha_1 = \eta x, \, \alpha_2 = \eta$

$$\frac{1}{a_1^{n_1}a_2^{n_2}} = \frac{\Gamma(n_1 + n_2)}{\Gamma(n_1)\Gamma(n_2)} \int_0^\infty \frac{x^{n_1 - 1}dx}{\left[a_1x + a_2\right]^{n_1 + n_2}}$$

▲□▶ ▲□▶ ▲□▶ ▲□▶ ▲□ のへで

$$\frac{1}{a_1^{n_1}a_2^{n_2}\cdots a_k^{n_k}} = \frac{1}{\Gamma(n_1)\Gamma(n_2)\cdots\Gamma(n_k)}$$
$$\int e^{-a_1\alpha_1 - a_2\alpha_2\cdots - a_k\alpha_k}\alpha_1^{n_1-1}\alpha_2^{n_2-1}\cdots\alpha_k^{n_k-1}d\alpha_1\,d\alpha_2\cdots d\alpha_k$$

$$\frac{1}{a_1^{n_1}a_2^{n_2}\cdots a_k^{n_k}} = \frac{1}{\Gamma(n_1)\Gamma(n_2)\cdots\Gamma(n_k)}$$
$$\int e^{-a_1\alpha_1 - a_2\alpha_2\cdots - a_k\alpha_k}\alpha_1^{n_1-1}\alpha_2^{n_2-1}\cdots\alpha_k^{n_k-1}d\alpha_1\,d\alpha_2\cdots d\alpha_k$$
$$\times \delta(\alpha_1 + \alpha_2\cdots + \alpha_l - \eta)d\eta \qquad (1 \le l \le k)$$

$$\frac{1}{a_1^{n_1}a_2^{n_2}\cdots a_k^{n_k}} = \frac{1}{\Gamma(n_1)\Gamma(n_2)\cdots\Gamma(n_k)}$$
$$\int e^{-a_1\alpha_1 - a_2\alpha_2\cdots - a_k\alpha_k}\alpha_1^{n_1-1}\alpha_2^{n_2-1}\cdots\alpha_k^{n_k-1}d\alpha_1\,d\alpha_2\cdots d\alpha_k$$
$$\times \delta(\alpha_1 + \alpha_2\cdots + \alpha_l - \eta)d\eta \qquad (1 \le l \le k)$$

 $\alpha_i = \eta x_i$

$$\frac{1}{a_1^{n_1}a_2^{n_2}\cdots a_k^{n_k}} = \frac{\Gamma(n_1+n_2\cdots + n_k)}{\Gamma(n_1)\Gamma(n_2)\cdots\Gamma(n_k)}$$
$$\int \frac{\delta(x_1+x_2\cdots + x_l-1)x_1^{n_1-1}x_2^{n_2-1}\cdots x_k^{n_k-1}dx_1\,dx_2\cdots dx_k}{[a_1x_1+a_2x_2\cdots + a_kx_k]^{n_1+n_2\cdots + n_k}}$$

・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・

$$\int \frac{d^d k}{D_1^{n_1} D_2^{n_2}} = i\pi^{d/2} (-p^2)^{d/2 - n_1 - n_2} G(n_1, n_2)$$

$$D_1 = -(k+p)^2 \qquad D_2 = -k^2$$

$$(n^2 = -1) \text{ Symmetric } 1 \leftrightarrow 2$$

◆□▶ ◆□▶ ◆□▶ ◆□▶ □ □ のへぐ

 $\langle P \rangle$ ymmetric I

$$\int \frac{d^d k}{D_1^{n_1} D_2^{n_2}} = i\pi^{d/2} (-p^2)^{d/2 - n_1 - n_2} G(n_1, n_2)$$

$$D_1 = -(k+p)^2 \qquad D_2 = -k^2$$

◆□▶ ◆□▶ ★□▶ ★□▶ ▲□ ◆ ○ ◆

 $(p^2 = -1)$ Symmetric $1 \leftrightarrow 2$ Vanishes for integer $n_1 \leq 0$ or $n_2 \leq 0$



Wick rotation, α parametrization

$$G(n_1, n_2) = \frac{\pi^{-d/2}}{\Gamma(n_1)\Gamma(n_2)} \\ \times \int e^{-\alpha_1(k+p)^2 - \alpha_2 k^2} \alpha_1^{n_1 - 1} \alpha_2^{n_2 - 1} d\alpha_1 \, d\alpha_2 \, d^d k$$

◆□▶ ◆□▶ ◆□▶ ◆□▶ □ □ のへぐ

Wick rotation, α parametrization

$$G(n_1, n_2) = \frac{\pi^{-d/2}}{\Gamma(n_1)\Gamma(n_2)}$$

$$\times \int e^{-\alpha_1(\mathbf{k}+\mathbf{p})^2 - \alpha_2 \mathbf{k}^2} \alpha_1^{n_1-1} \alpha_2^{n_2-1} d\alpha_1 d\alpha_2 d^d \mathbf{k}$$
Shift $\mathbf{k}' = \mathbf{k} + \frac{\alpha_1}{\alpha_1 + \alpha_2} \mathbf{p}$

$$G(n_1, n_2) = \frac{\pi^{-d/2}}{\Gamma(n_1)\Gamma(n_2)} \int \exp\left[-\frac{\alpha_1 \alpha_2}{\alpha_1 + \alpha_2}\right] \alpha_1^{n_1-1} \alpha_2^{n_2-1} d\alpha_1 d\alpha_2$$

$$\times \int e^{-(\alpha_1 + \alpha_2)\mathbf{k}^2} d^d \mathbf{k}$$

$$= \frac{1}{\Gamma(n_1)\Gamma(n_2)}$$

$$\times \int \exp\left[-\frac{\alpha_1 \alpha_2}{\alpha_1 + \alpha_2}\right] (\alpha_1 + \alpha_2)^{-d/2} \alpha_1^{n_1-1} \alpha_2^{n_2-1} d\alpha_1 d\alpha_2$$

Substitution $\alpha_1 = \eta x, \ \alpha_2 = \eta (1 - x)$

$$G(n_1, n_2) = \frac{1}{\Gamma(n_1)\Gamma(n_2)} \int_0^1 x^{n_1 - 1} (1 - x)^{n_2 - 1} dx$$
$$\times \int_0^\infty e^{-\eta x (1 - x)} \eta^{-d/2 + n_1 + n_2 - 1} d\eta$$
$$= \frac{\Gamma(-d/2 + n_1 + n_2)}{\Gamma(n_1)\Gamma(n_2)} \int_0^1 x^{d/2 - n_2 - 1} (1 - x)^{d/2 - n_1 - 1} dx$$

・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・
 ・

Substitution $\alpha_1 = \eta x, \ \alpha_2 = \eta (1 - x)$

$$G(n_1, n_2) = \frac{1}{\Gamma(n_1)\Gamma(n_2)} \int_0^1 x^{n_1 - 1} (1 - x)^{n_2 - 1} dx$$
$$\times \int_0^\infty e^{-\eta x (1 - x)} \eta^{-d/2 + n_1 + n_2 - 1} d\eta$$
$$= \frac{\Gamma(-d/2 + n_1 + n_2)}{\Gamma(n_1)\Gamma(n_2)} \int_0^1 x^{d/2 - n_2 - 1} (1 - x)^{d/2 - n_1 - 1} dx$$

$$G(n_1, n_2) = \frac{\Gamma(-d/2 + n_1 + n_2)\Gamma(d/2 - n_1)\Gamma(d/2 - n_2)}{\Gamma(n_1)\Gamma(n_2)\Gamma(d - n_1 - n_2)}$$

▲□▶ ▲圖▶ ▲目▶ ▲目▶ 三回 めんら

$$\frac{G(n_1, n_2 + 1)}{G(n_1, n_2)} = -\frac{(d - 2n_1 - 2n_2)(d - n_1 - n_2 - 1)}{n_2(d - 2n_2 - 2)}$$

◆□▶ ◆□▶ ◆□▶ ◆□▶ □ ● のへぐ

$$\frac{G(n_1, n_2 + 1)}{G(n_1, n_2)} = -\frac{(d - 2n_1 - 2n_2)(d - n_1 - n_2 - 1)}{n_2(d - 2n_2 - 2)}$$

For integer $n_{1,2}$, proportional to

$$G_1 = -\frac{2g_1}{(d-3)(d-4)}$$
$$g_1 = \frac{\Gamma(1+\varepsilon)\Gamma^2(1-\varepsilon)}{\Gamma(1-2\varepsilon)}$$

◆□▶ ◆□▶ ◆□▶ ◆□▶ □ □ のへぐ

Divergences

 $k \to \infty$: the denominator $(k^2)^{n_1+n_2}$ UV-divergent if $d \ge 2(n_1 + n_2)$ $(d \to 4: n_1 + n_2 \le 2)$ $1/\varepsilon$ pole of $\Gamma(-d/2 + n_1 + n_2)$ for $n_1 = n_2 = 1$

ション ふゆ マ キャット しょう くりく

Divergences

$$k \to \infty$$
: the denominator $(k^2)^{n_1+n_2}$
UV-divergent if $d \ge 2(n_1 + n_2)$ $(d \to 4: n_1 + n_2 \le 2)$
 $1/\varepsilon$ pole of $\Gamma(-d/2 + n_1 + n_2)$ for $n_1 = n_2 = 1$

▲□▶ ▲圖▶ ▲国▶ ▲国▶ - 国 - のへ⊙

 $k \to 0$: the denominator $(k^2)^{n_2}$ IR-divergent if $d \le 2n_2$ $(d \to 4: n_2 \ge 2)$ $1/\varepsilon$ pole of $\Gamma(d/2 - n_2)$ for $n_2 \ge 2$ Similarly $k + p \to 0$

Analytical properties



$$I(p^2) = -\frac{i}{\pi^{d/2}} \int \frac{d^d k}{(-k^2 - i0)(-(k+p)^2 - i0)} = G_1(-p^2)^{-\varepsilon}$$

Tensors in d dimensions

$$\delta^{\mu}_{\mu} = d$$

(ロ)、(国)、(E)、(E)、 E) の(()

Tensors in d dimensions

 $\delta^{\mu}_{\mu} = d$

Projector onto completely antisymmetric tensors

$$\delta_{\nu_1}^{[\mu_1}\delta_{\nu_2}^{\mu_2}\cdots\delta_{\nu_n}^{\mu_n]}$$

For example

$$\delta_{\nu_1}^{[\mu_1} \delta_{\nu_2}^{\mu_2]} = \frac{1}{2!} \left(\delta_{\nu_1}^{\mu_1} \delta_{\nu_2}^{\mu_2} - \delta_{\nu_1}^{\mu_2} \delta_{\nu_2}^{\mu_1} \right)$$

Its trace — the number of independent components

$$\delta_{\mu_1}^{[\mu_1} \delta_{\mu_2}^{\mu_2} \cdots \delta_{\mu_n}^{\mu_n]} = \binom{d}{n} = \frac{1}{n!} d(d-1) \cdots (d-n+1)$$

Integer d: any tensor antisymmetric in n > d indices is zero Non-integer d: the traces are non-zero for all n, the projectors are non-zero

 $\gamma^{\mu}\gamma^{\nu} + \gamma^{\nu}\gamma^{\mu} = 2g^{\mu\nu}$



 $\gamma^{\mu}\gamma^{\nu} + \gamma^{\nu}\gamma^{\mu} = 2g^{\mu\nu}$

How many different products of the matrices γ^{μ} are there for an integer d? Each of d matrices γ^{μ} occurs either 0 or 1 times. The number of independent products is 2^d . For any even integer d, products of γ^{μ} span the whole space of matrices. The number of independent $N \times N$ matrices is N^2 . This means that γ^{μ} must be $2^{d/2} \times 2^{d/2}$ matrices:

$$\operatorname{Tr} 1 = 2^{d/2}$$

Any γ -matrix expression can be expanded in

$$\Gamma^{\mu_1\dots\mu_n} = \gamma^{[\mu_1}\cdots\gamma^{\mu_n]}$$

(日) (同) (三) (三) (三) (○) (○)

For a non-integer d, this basis is infinite.

 $\gamma^{\mu}\gamma^{\nu} + \gamma^{\nu}\gamma^{\mu} = 2g^{\mu\nu}$

How many different products of the matrices γ^{μ} are there for an integer d? Each of d matrices γ^{μ} occurs either 0 or 1 times. The number of independent products is 2^d . For any even integer d, products of γ^{μ} span the whole space of matrices. The number of independent $N \times N$ matrices is N^2 . This means that γ^{μ} must be $2^{d/2} \times 2^{d/2}$ matrices:

$$\operatorname{Tr} 1 = 2^{d/2}$$

Any γ -matrix expression can be expanded in

$$\Gamma^{\mu_1\dots\mu_n} = \gamma^{[\mu_1}\cdots\gamma^{\mu_n]}$$

For a non-integer d, this basis is infinite. But conventionally

$\operatorname{Tr} 1 = 4$

(日) (日) (日) (日) (日) (日) (日) (日)

$$\gamma_{\mu}\gamma^{\mu} = d$$

$$\gamma_{\mu}\gamma^{\mu} = d$$

$$\gamma_{\mu} \not a \gamma^{\mu} = \gamma_{\mu} (-\gamma^{\mu} \not a + 2a^{\mu}) = -(d-2) \not a$$

$$\gamma_{\mu}\gamma^{\mu} = d$$

$$\gamma_{\mu} \not a \gamma^{\mu} = \gamma_{\mu} (-\gamma^{\mu} \not a + 2a^{\mu}) = -(d-2) \not a$$

$$\gamma_{\mu} \not a \not b \gamma^{\mu} = \gamma_{\mu} \not a (-\gamma^{\mu} \not b + 2b^{\mu}) = (d-2) \not a \not b + 2 \not b \not a = 4a \cdot b + (d-4) \not a \not b$$

$$\gamma_{\mu}\gamma^{\mu} = d$$

$$\gamma_{\mu} \not a \gamma^{\mu} = \gamma_{\mu} (-\gamma^{\mu} \not a + 2a^{\mu}) = -(d-2) \not a$$

$$\gamma_{\mu} \mathbf{A} \mathbf{B} \gamma^{\mu} = \gamma_{\mu} \mathbf{A} (-\gamma^{\mu} \mathbf{B} + 2b^{\mu}) = (d-2) \mathbf{A} \mathbf{B} + 2 \mathbf{B} \mathbf{A} = 4a \cdot b + (d-4) \mathbf{A} \mathbf{B}$$

$$\begin{split} \gamma_{\mu} \phi \phi \phi \gamma^{\mu} &= \gamma_{\mu} \phi \phi (-\gamma^{\mu} \phi + 2c^{\mu}) = -4a \cdot b \phi - (d-4) \phi \phi \phi + 2\phi \phi \phi \\ &= -2\phi \phi \phi - (d-4) \phi \phi \phi \end{split}$$

It is not possible to define γ_5 satisfying

$$\gamma_5\gamma^\mu + \gamma^\mu\gamma_5 = 0$$

◆□▶ ◆□▶ ◆□▶ ◆□▶ □ ● のへぐ

It is not possible to define γ_5 satisfying

$$\gamma_5\gamma^\mu + \gamma^\mu\gamma_5 = 0$$

$$\operatorname{Tr} \gamma_5 \gamma_\mu \gamma^\mu = d \operatorname{Tr} \gamma_5 = -\operatorname{Tr} \gamma_\mu \gamma_5 \gamma^\mu = -\operatorname{Tr} \gamma_5 \gamma^\mu \gamma_\mu = -d \operatorname{Tr} \gamma_5$$

$$\Rightarrow d \operatorname{Tr} \gamma_5 = 0$$

◆□▶ ◆□▶ ◆□▶ ◆□▶ □ ● のへぐ

It is not possible to define γ_5 satisfying

$$\gamma_5\gamma^\mu + \gamma^\mu\gamma_5 = 0$$

 $\operatorname{Tr} \gamma_5 \gamma_\mu \gamma^\mu = d \operatorname{Tr} \gamma_5 = - \operatorname{Tr} \gamma_\mu \gamma_5 \gamma^\mu = - \operatorname{Tr} \gamma_5 \gamma^\mu \gamma_\mu = -d \operatorname{Tr} \gamma_5$ $\Rightarrow d \operatorname{Tr} \gamma_5 = 0$

$$\operatorname{Tr} \gamma_5 \gamma_{\mu} \gamma^{\mu} \gamma^{\alpha} \gamma^{\beta} = d \operatorname{Tr} \gamma_5 \gamma^{\alpha} \gamma^{\beta} = - \operatorname{Tr} \gamma_5 \gamma_{\mu} \gamma^{\alpha} \gamma^{\beta} \gamma^{\mu}$$
$$= -(d-4) \operatorname{Tr} \gamma_5 \gamma^{\alpha} \gamma^{\beta} \Rightarrow (d-2) \operatorname{Tr} \gamma_5 \gamma^{\alpha} \gamma^{\beta} = 0$$

▲□▶ ▲圖▶ ▲国▶ ▲国▶ - 国 - のへ⊙

It is not possible to define γ_5 satisfying

$$\gamma_5\gamma^\mu + \gamma^\mu\gamma_5 = 0$$

 $\operatorname{Tr} \gamma_5 \gamma_\mu \gamma^\mu = d \operatorname{Tr} \gamma_5 = - \operatorname{Tr} \gamma_\mu \gamma_5 \gamma^\mu = - \operatorname{Tr} \gamma_5 \gamma^\mu \gamma_\mu = -d \operatorname{Tr} \gamma_5$ $\Rightarrow d \operatorname{Tr} \gamma_5 = 0$

$$\operatorname{Tr} \gamma_5 \gamma_{\mu} \gamma^{\mu} \gamma^{\alpha} \gamma^{\beta} = d \operatorname{Tr} \gamma_5 \gamma^{\alpha} \gamma^{\beta} = - \operatorname{Tr} \gamma_5 \gamma_{\mu} \gamma^{\alpha} \gamma^{\beta} \gamma^{\mu}$$
$$= -(d-4) \operatorname{Tr} \gamma_5 \gamma^{\alpha} \gamma^{\beta} \Rightarrow (d-2) \operatorname{Tr} \gamma_5 \gamma^{\alpha} \gamma^{\beta} = 0$$

$$\operatorname{Tr} \gamma_5 \gamma_{\mu} \gamma^{\mu} \gamma^{\alpha} \gamma^{\beta} \gamma^{\gamma} \gamma^{\delta} = d \operatorname{Tr} \gamma_5 \gamma^{\alpha} \gamma^{\beta} \gamma^{\gamma} \gamma^{\delta} = - \operatorname{Tr} \gamma_5 \gamma_{\mu} \gamma^{\alpha} \gamma^{\beta} \gamma^{\gamma} \gamma^{\delta} \gamma^{\mu}$$
$$= -(d-8) \operatorname{Tr} \gamma_5 \gamma^{\alpha} \gamma^{\beta} \gamma^{\gamma} \gamma^{\delta} \Rightarrow (d-4) \operatorname{Tr} \gamma_5 \gamma^{\alpha} \gamma^{\beta} \gamma^{\gamma} \gamma^{\delta} = 0$$
$$\gamma_{\mu} \gamma^{\alpha} \gamma^{\beta} \gamma^{\gamma} \gamma^{\delta} \gamma^{\mu} = (d-8) \gamma^{\alpha} \gamma^{\beta} \gamma^{\gamma} \gamma^{\delta} + \text{terms with fewer}$$
$$\gamma\text{-matrices}$$